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TODAYõS AGENDA

u Identification of a Business Combination

u Overview of the Amendments to IFRS 3

u Amendment 1 - Amended definition of ôbusinessõ and ôoutputsõ

u Amendment 2 - Amended guidance on inputs, processes and outputs

u Amendment 3 - A business needs a minimum of an input and a substantive 

process

u Amendment 4 - Assessing if an acquired process is substantive 

u Amendment 5 - Optional concentration test



ACROSS AUSTRALIA, COMPANIES ARE 
MISSING OUT ON CASH BECAUSE THEY 
DONõT UNDERSTAND THE GRANTS AND 

INCENTIVES AVAILABLE TO THEM



OUR GUEST PRESENTER

Phone: +61 3 9603 1733

Email: travis.maddox@bdo.com.au

Travis is a dedicated R&D tax professional with experience across R&D incentives and 

government grant programs in both Australia and the UK.

Travis works with companies of all sizes including Small to Medium Enterprises (SMEs) to large 

multi -national corporations. Some of his recent experience includes:

u Successfully defending millions of dollars of R&D claims from an ATO audit for a food 

manufacturing business

u Providing advice to a life sciences business about how relocating business units would 

impact R&D tax incentive benefits in different jurisdictions

u Assisting one of the worldõs largest technology companies to implement a global R&D 

documentation strategy to support their R&D claims in the US, UK, Ireland and Australia 

while considering the broader transfer pricing impact.

Travis Maddox

Melbourne

Partner, Research & Development
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R&D TAX INCENTIVE

u Broad-based entitlement program that is applicable to all 

industry sectors

u Up to 43.5% cash back per eligible $1 spent (e.g. 

$435,000 per $1m)

u Self assessment not competitive

u Claimable annually
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COMMON INDUSTRIES

u Engineering

u IT/Technology

u Life Sciences

u Manufacturing

u Mining & Energy

u Agriculture

u Automotive

uAnd moreé
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ACCOUNTING FOR R&D INCENTIVES

8

u Refundable R&D incentives

Å https:// www.bdo.com.au/en -au/accounting -news/accounting -news-

october -2020/refundable -rnd-incentives

u Non-refundable R&D incentives

Å https:// www.bdo.com.au/en -au/accounting -news/accounting -news-

november-2020/non-refundable -rnd-incentives

https://www.bdo.com.au/en-au/accounting-news/accounting-news-october-2020/refundable-rnd-incentives
https://www.bdo.com.au/en-au/accounting-news/accounting-news-november-2020/non-refundable-rnd-incentives


IDENTIFICATION OF A BUSINESS COMBINATION



ACCOUNTING FOR ASSET ACQUISITIONS

u The acquirer shall identify and recognise the individual identifiable 

assets acquired (including intangible assets) and liabilities assumed

u The cost of the group shall be allocated to the individual identifiable 

assets and liabilities on the basis of their relative fair values at the 

date of purchase

u Such a transaction or event does not give rise to goodwill

10



ACCOUNTING FOR BUSINESS COMBINATIONS

Step 1 ðIdentify the acquirer 

Step 2 ðDetermine the acquisition date 

Step 3 - Recognise and measure at acquisition date the identifiable assets 
acquired and the liabilities assumed, as well as any NCI in the acquiree

Step 4 - Measure the consideration transferred

Step 5 - Recognise and measure the goodwill or gain from a bargain 
Purchase
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SCOPE OF IFRS 3 
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u IFRS 3 applies to a transaction or other event that meets the definition of 

a business combination

u IFRS 3 defines a business combination as a transaction or other event in which 

an acquirer obtains control of one or more businesses

u Transactions sometimes referred to as ôtrue mergersõ or ômergers of equalsõ 

are also business combinations



SCOPE OF IFRS 3 
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u IFRS 3 does not apply to:

Å the accounting for the formation of a joint arrangement in the financial 

statements of the joint arrangement itself

Å the acquisition of an asset or a group of assets that does not constitute a 

business

Å a combination of entities or businesses under common control



Has an acquirer obtained control of a 
business? 

No

Do not apply IFRS 3

Asset acquisition

Yes

Are the acquirer and the acquiree under 
common control?

Yes

Do not automatically 
apply AASB 3

No

Apply IFRS 3

KEY CONSIDERATIONS BEFORE WE APPLY IFRS 3



Parent A

Subsidiary  B

Sub-Subsidiary  D Sub-Subsidiary  E

Subsidiary  C

Sub-Subsidiary  F

WHAT IS COMMON CONTROL?



OVERVIEW OF THE AMENDMENTS TO IFRS 3



OVERVIEW OF AMENDMENTSTO IFRS 3 

17

Why were the amendments made?

Å Following post implementation review of 

IFRS 3

Å To provide additional guidance to entities 

determining if an acquisition is a business or 

a group of assets

What are the key changes?

Å Updated definition of a business

Å (Optional) concentration test added

Å Supplementary guidance added, including 

additional illustrative examples

Applicable to annual reporting periods beginning on or after 1 January 2020, with early 

application permitted



AMENDMENTS MADE TO IFRS 3

18

Narrows the definition of ôoutputsõ and a ôbusinessõ to focus on returns from selling goods 

and services to customers, rather than on cost reductions.

Amends guidance on inputs, processes and outputs in paragraph B7 to align with the new 

definition.

Clarifies that to be considered a business, an acquired set of activities and assets must 

include, as a minimum, an ôinputõ and a ôsubstantive processõ that together significantly 

contribute to the ability to create outputs.

Provides extensive guidance on what is meant by a ôsubstantive processõ.

Adds an optional ôconcentration testõ as a short-cut way of concluding that certain types 

of acquisitions are asset acquisitions and not business combinations.

1

2

3

4

5



Amended definition of ôbusinessõ and ôoutputsõ

AMENDMENT 1



AMENDED DEFINITION OF ôBUSINESSõ AND ôOUTPUTSõ

Definition of a business

20

Old definition New definition

An integrated set of activities and assets 

that is capable of being conducted and 

managed for the purpose of providing a 

return in the form of dividends , lower 

costs or other economic benefits directly 

to investors or other owners, members or 

participants

An integrated set of activities and assets that 

is capable of being conducted and managed 

for the purpose of

Å providing goods or services to customers, 

Å generating investment income (such as 

dividends or interest) or 

Å generating other income from ordinary 

activities



AMENDED DEFINITION OF ôBUSINESSõ AND ôOUTPUTSõ

Definition of outputs

21

Old definition New definition

The result of inputs and processes applied 

to those inputs that provide or have the 

ability to provide a return in the form of 

dividends, lower costs or other economic 

benefits directly to investors or other 

owners, members or participants.

The result of inputs and processes applied to 

those inputs that provide 

Å goods or services to customers, 

Å generate investment income (such as 

dividends or interest) or 

Å generate other income from ordinary 

activities.



Amended guidance on inputs, processes and outputs

AMENDMENT 2



AMENDED GUIDANCE ON INPUTS, PROCESSES & 
OUTPUTS

23
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AMENDED GUIDANCE ON INPUTS, PROCESSES & 
OUTPUTS

24

Inputs and processes no longer need to have the ability to create 

outputs. Instead, they merely need to have the ability to contribute 

to the creation of outputs.

The intellectual capacity of an organised 

workforce having the necessary skills and 

experience in following rules and conventions 

may provide the necessary processes applied 

to inputs to create outputs.

The focus on outputs is on 

returns from goods and services 

provided, investment income, 

and other income from ordinary 

activities. 



EXAMPLE 1 

Background

u Multinational Biotech Limited (MBL) purchases Small Vaccine Researcher Co (SMVRC)

u The operations of SMVRC include:

Å In process research and development of various vaccines, including a COVID-19 vaccine

ð SMVRC does not yet have any completed vaccines with regulatory approval and 
currently does not have any revenue from the sale (or licencing) of any of its vaccines 

Å Scientists and other clinical staff with the knowledge and necessary skills to perform the 
R&D activities (including clinical trials)

Å Management staff with experience in operating a biotech

ð SMVRC does not have any documented operational processes or strategic management 
processes 

Å Plant and equipment including corporate headquarters, research laboratory, research 
equipment and consumables used in the research process 
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EXAMPLE 1 

Question

Has MBL acquired any processes, when it purchases SVRC, that are capable of 

being applied to inputs to create outputs?

26

Option 1 - NO

SVRC does not have any 

documented operational or 

strategic management processes in 

place

Option 2 - YES

SVRC has an organised workforce 

consisting of highly skilled scientific 

staff and management that have 

the necessary skills and experience 

following rules and conventions 

that may provide the necessary 

processes that are capable of being 

applied to inputs to create outputs

Option 3 - NO

SVRC does not have any revenue, so 

it cannot have any processes in 

place that are capable of being 

applied to inputs to create outputs



EXAMPLE 1 

Answer 

Has MBL acquired any processes, when it purchases SVRC, that are capable of 

being applied to inputs to create outputs?

27

Option 1 - NO

SVRC does not have any 

documented operational or 

strategic management processes in 

place

Option 2 - YES

SVRC has an organised workforce 

consisting of highly skilled scientific 

staff and management that have 

the necessary skills and experience 

following rules and conventions 

that may provide the necessary 

processes that are capable of being 

applied to inputs to create outputs

Option 3 - NO

SVRC does not have any revenue, so 

it cannot have any processes in 

place that are capable of being 

applied to inputs to create outputs



A business needs a minimum of an input and a substantive process

AMENDMENT 3



A BUSINESS NEEDS A MINIMUM OF AN INPUT AND A 
SUBSTANTIVE PROCESS

29

Input

Substantive 

process

Significantly 

contribute to 

ability to 

create 

outputs

Business 



EXAMPLE 2 

Background

u Logistics & Transport Co. purchases a new motor vehicle

u The motor vehicle will be used as part of its fleet of motor vehicles that 

provides transport services for customers

u Logistics & Transport Co. will employ a new driver to use the motor vehicle

30



EXAMPLE 2

Question

Has Logistics & Transport Co. acquired a substantive process with the acquisition 

of the motor vehicle (note that the input acquired is the motor vehicle)?

31

Option 1 - NO

No substantive process has been 

acquired

Option 2 - YES

The acquisition of the motor 

vehicle is critical to the ability of 

Logistics & Transport Co. to 

generate revenue from logistics 

services



EXAMPLE 2 

Answer

Has Logistics & Transport Co. acquired a substantive process with the acquisition 

of the motor vehicle?

32

Option 1 - NO

No substantive process has been 

acquired

Option 2 - YES

The acquisition of the motor 

vehicle is critical to the ability of 

Logistics & Transport Co. to 

generate revenue from logistics 

services



Assessing if an acquired process is substantive 

AMENDMENT 4



ASSESSING IF AN ACQUIRED PROCESS IS SUBSTANTIVE

First question: Does the set of activities and assets have outputs at the 

acquisition date?

34

ANALYSISOF SETOF ACTIVITIESAND

ASSETSTHAT DOESNOT HAVE

OUTPUTSAT THE ACQUISITIONDATE

ANALYSISOF SETOF ACTIVITIESANDASSETS

THAT HASOUTPUTSAT THE ACQUISITIONDATE

No Yes



ASSESSING IF AN ACQUIRED PROCESS IS SUBSTANTIVE

35

Is the acquired process critical to the ability to develop or 

convert an acquired input(s) into output(s)?

Do the inputs acquired include an organised workforce that 

is highly skilled, knowledgeable or experienced to perform 

the acquired process?

Do the inputs acquired include other inputs that the 

organised workforce could develop or convert into outputs?
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ASSESSING IF AN ACQUIRED PROCESS IS SUBSTANTIVE
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Is the acquired process critical to the entityõs ability to continue 

producing outputs?
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Is the acquired process considered scarce or unique, or cannot be 

replaced without significant cost, effort or delay in the ability to 

continue producing outputs?

YES
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EXAMPLE 3 

Background ðsame as example 1

u Multinational Biotech Limited (MBL) purchases Small Vaccine Researcher Co (SMVRC)

u The operations of SMVRC include:

Å In process research and development of various vaccines, include a COVID-19 vaccine

ð SMVRC does not yet have any completed vaccines with regulatory approval and currently does not 
have any revenue from the sale (or licencing) of any of its vaccines (i.e. no outputs)

Å Scientists and other clinical staff with the knowledge and necessary skills to perform the R&D activities 
(including clinical trials)

Å Management staff with experience in operating a biotech

ð SMVRC does not have any documented operational processes or strategic management processes 

Å Plant and equipment including corporate headquarters, research laboratory, research equipment and 
consumables used in the research process 
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EXAMPLE 3 

Question

Has MBL acquired a substantive processes with the acquisition of SVRC?

38

Option 1 - YES

ÅMBL acquired a set of processes (organised workforce 

following rules and conventions) that is critical to the 

ability to develop or convert the acquired inputs into 

outputs, and

ÅThe inputs acquired include:

ÅAn organised workforce with the necessary skills 

& knowledge to perform the acquired process, &

Å It has other inputs that the organised workforce 

could convert into outputs, which are the in 

process R&D

Option 2 - NO

ÅMBL acquired a set of processes (organised workforce 

following rules and conventions) that is critical to the 

ability to develop or convert the acquired inputs into 

outputs

ÅWhile an organised workforce was acquired, MBL did 

not acquire any other inputs that the organised 

workforce could convert into outputs



EXAMPLE 3 

Answer

Has MBL acquired a substantive processes with the acquisition of SVRC?

39

Option 1 - YES

ÅMBL acquired a set of processes (organised workforce 

following rules and conventions) that is critical to the 

ability to develop or convert the acquired inputs into 

outputs, and

ÅThe inputs acquired include:

ÅAn organised workforce with the necessary skills 

& knowledge to perform the acquired process, &

Å It has other inputs that the organised workforce 

could convert into outputs, which are the in 

process R&D

Option 2 - NO

ÅMBL acquired a set of processes (organised workforce 

following rules and conventions) that is critical to the 

ability to develop or convert the acquired inputs into 

outputs

ÅWhile an organised workforce was acquired, MBL did 

not acquire any other inputs that the organised 

workforce could convert into outputs



Optional concentration test

AMENDMENT 5



OPTIONAL CONCENTRATION TEST

41

Activities and assets acquired
Perform assessment set out in IFRS 3.B8 -
B12D to determine if set of activities and 

assets acquired should be accounted for as 
a business combination or asset acquisition

Purchaser makes election for 

each acquisition to either use or 

not use the concentration test

Does acquirer elect to apply the 

optional concentration test?

Is substantially all of the fair value of the 

gross assets acquired concentrated in a 

single identifiable asset, or group of 

similar identifiable assets?

OPTIONALCONCENTRATIONTEST
SET OF ACTIVITIES & ASSETS

= 

ASSET ACQUISITION 

(i.e. not a business)

NO

Yes

Yes

NO



OPTIONAL CONCENTRATION TEST

42

A
P

P
L

IC
A

T
IO

NG
U

ID
A

N
C

EF
O

R
U

S
IN

G
C

O
N

C
E

N
T

R
A

T
IO

N

T
E

S
T
(I

F
R

S
 3

.B
7

B
)

Gross assets acquired shall exclude cash and cash equivalents, DTAs and goodwill resulting from 

the effects of DTLs

The FV of the gross assets acquired includes any consideration transferred (including the FV of 

any NCIand FV of any previously held interest) in excess of the FV of net identifiable assets 

acquired

A single identifiable asset shall include any asset or group of assets that would be recognised and 

measured as a single identifiable asset in a business combination

If a tangible asset is attached to, and cannot be physically removed and used separately from, 

another tangible asset (or from an underlying asset subject to a lease, as defined in IFRS16), 

without incurring significant cost, or significant diminution in utility or fair value to either asset 

(for example, land and buildings), those assets shall be considered a single identifiable asset

When assessing whether assets are similar, an entity shall consider the nature of each single 

identifiable asset and the risks associated with managing and creating outputs from the assets 

(that is, the risk characteristics)



OPTIONAL CONCENTRATION TEST

43
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A tangible asset and an intangible asset

Tangible assets in different classes (for example, inventory, manufacturing equipment and 

automobiles) unless they are considered a single identifiable asset in accordance with the 

criterion in IFRS 3.B7B(d)

Identifiable intangible assets in different classes (for example, brand names, licences and 

intangible assets under development

A financial asset and a non-financial asset

Financial assets in different classes (for example, accounts receivable and investments in equity 

instruments)

Identifiable assets that are within the same class of asset but have significantly different risk 

characteristics



EXAMPLE 4 

Background

u Small Investor Co. (SIC) purchased a portfolio of 20 four -bedroom properties. Each house: 

Å Is in the same geographic area

Å Includes land, the house and property improvements 

Å Has a different layout

Å Has a separate rental agreement in place, however the demographic of the tenants is 
similar

u The fair value of the consideration paid is the aggregate fair value of each of the 20 four 
bedroom houses acquired

u Assume that any risks associated with the properties in the portfolio is not significantly 
different

u No employees, other assets or any other activities were transferred to SIC

44



EXAMPLE 4 

Question

SIC elects to apply the concentration test to this acquisition to determine if it has 

acquired a portfolio of assets. Has the concentration test been met?

45

Option 1 - YES

The concentration test is met because 

substantially all of the fair value of the gross 

assets acquired (properties with houses) is 

concentrated on a group of similar identifiable 

assets

Option 2 - NO

While substantially all of the fair value of the 

gross assets acquired (properties with houses) is 

concentrated on a group of similar identifiable 

assets, the concentration test cannot be met 

because the land and buildings are separate 

tangible assets



Option 2 - NO

While substantially all of the fair value of the 

gross assets acquired (properties with houses) is 

concentrated on a group of similar identifiable 

assets, the concentration test cannot be met 

because the land and buildings are separate 

tangible assets

Answer

SIC elects to apply the concentration test to this acquisition to determine if it has 

acquired a portfolio of assets. Has the concentration test been met?

EXAMPLE 4 

46

Option 1 - YES

The concentration test is met 

becausesubstantially all of the fair value of the 

grossassets acquired (properties with houses) 

is concentrated on a group of similar 

identifiable assets



EXAMPLE 5

Background

u Assume all of the facts in polling question 4 are the same, but the following 
additional information also applies

u As part of the portfolio acquisition, SIC also purchased a small shopping centre that 
includes a supermarket and five other retail shops that are currently leased for use 
as a café, bakery, greengrocer, butcher and a pharmacy

Å Security, cleaning and maintenance of the common areas of the shopping 
centre is outsourced to third parties

u The aggregate fair value of the consideration paid for the portfolio (20 four 
bedroom properties and the shopping centre) is 1% less than the aggregate fair 
value of each of the separate properties

47



EXAMPLE 5 

Question 5A

SIC elects to apply the concentration test to this acquisition to determine if it has 

acquired a portfolio of assets. Has the concentration test been met?

48

Option 1 - YES Option 2 - NO

Substantially all of the fair value of the gross 

assets acquired (properties with houses) is 

concentrated on a group of similar identifiable 

assets

While substantially all of the fair value of the 

gross assets acquired (properties with houses)

the concentration test cannot be met because 

the risks associated with managing the group of 

20 four bedroom properties and the retail 

property (shopping centre) are significantly 

different



EXAMPLE 5 

Answer 5A

SIC elects to apply the concentration test to this acquisition to determine if it has 

acquired a portfolio of assets. Has the concentration test been met?

49

Option 1 - YES Option 2 - NO

Substantially all of the fair value of the gross 

assets acquired (properties with houses) is 

concentrated on a group of similar identifiable 

assets

While substantially all of the fair value of the 

gross assets acquired (properties with houses)

the concentration test cannot be met because 

the risks associated with managing the group of 

20 four bedroom properties and the retail 

property (shopping centre) are significantly 

different



EXAMPLE 5 

Question 5B

SIC applies the requirements in IFRS 3.B8-B12D to determine if the acquisition of 

is an asset acquisition or business combination?  

50

Option 1 ðASSET ACQUISITION 

The acquisition is an asset acquisition because it 

does not have any substantive processes:

Å Inputs ð20 houses and small shopping centre

Å Substantive process ðno substantive process 

exists because no activities were acquired 

that significantly contribute to the 

production of outputs

Å Outputs ðrental income from the houses and 

shopping centre

Option 2 - BUSINESS COMBINATION

The acquisition is a business combination, with:

Å Inputs ð20 houses and small shopping 

centre

Å Substantive process ðall properties have 

been leased in past therefore a process 

exists to continue to generate rental income

Å Outputs ðrental income from the houses 

and shopping centre



EXAMPLE 5 

Answer 5B

SIC applies the requirements in IFRS 3.B8-B12D to determine if the acquisition of 

is an asset acquisition or business combination?  

51

Option 1 ðASSET ACQUISITION 

The acquisition is an asset acquisition because it 

does not have any substantive processes:

Å Inputs ð20 houses and small shopping centre

Å Substantive process ðno substantive process 

exists because no activities were acquired 

that significantly contribute to the 

production of outputs

Å Outputs ðrental income from the houses and 

shopping centre

Option 2 - BUSINESS COMBINATION

The acquisition is a business combination, with:

Å Inputs ð20 houses and small shopping 

centre

Å Substantive process ðall properties have 

been leased in past therefore a process 

exists to continue to generate rental income

Å Outputs ðrental income from the houses 

and shopping centre



EXAMPLE 6

Background

u Bazaar Centres (BC), the largest operator or shopping centres in jurisdiction A, acquired Large 
Shopping Centre (LSC)

u LSC operates one shopping centre that includes 450 specialty retail shops and 5 anchor stores (e.g. 
supermarkets and department stores)

u At the date of the acquisition:

Å All shops are individually leased (under an operating lease)

Å LSC employs a workforce of 50 people that are responsible for operating the information desk, 
cleaning and looking after common areas, basic maintenance, negotiating leases, etc.

Å LSC has documented processes and systems that are used to generate revenue (i.e. processes for 
negotiating and leasing shops, processes for cleaning and maintenance etc.)

Å All LSC staff will continue to be employed and retain access to all employee benefits

u The consideration paid for LSC was $415 million, and acquisition costs were $3 million

52



EXAMPLE 6

Background ( cont )

At acquisition date, the acquired assets of LSC (in accordance with IFRS 3) were as follows: 

Fair Value (M$)

Land 300

Building ðshopping centre 210

Cash and cash equivalents 5

Identifiable intangibles (on acquisition) ** 4

Financial liability ðbank loan (100)

Other financial liabilities (5)

Employee benefit provisions (IAS 19 calculation) (1)

DTL arising from temporary differences associated with land & 

building and provisions (IAS 12 calculation)**

(70)

Fair value of gross assets 

acquired  = $516 million

Calculated as:

Å$415m (consideration paid)

Å+ $106m (FV of liabilities 

assumed, excluding DTL)

Å - $5m (cash acquired)

** Determined in accordance with requirements in IFRS 3

53



EXAMPLE 6 

Question A ðBC elects to apply the concentration test

Has the concentration test been met?

54

Option 1 - YES

The concentration test has been met because 

substantially all of the fair value of the gross 

assets acquired (shopping centre) is 

concentrated on a single identifiable asset

Option 2 - NO

The concentration test cannot be met because 

the acquisition includes a workforce that has 

been acquired as part of the acquisition, thus 

substantially all of the fair value of the gross 

assets acquired is not concentrated on a single 

identifiable asset



EXAMPLE 6 

Answer A ðBC elects to apply the concentration test

Has the concentration test been met?

55

Option 1 - YES

The concentration test has been met because 

substantially all of the fair value of the gross 

assets acquired (shopping centre) is 

concentrated on a single identifiable asset

Option 2 - NO

The concentration test cannot be met because 

the acquisition includes a workforce that has 

been acquired as part of the acquisition, thus 

substantially all of the fair value of the gross 

assets acquired is not concentrated on a single 

identifiable asset

Step 1: calculate fair value of gross assets acquired

Step 2: do shopping centre assets account for 

ôsubstantially allõ of the FV of gross assets acquired 

Fair value of gross assets acquired  = $516 million
Calculated as:

Å $415m (consideration paid)

Å + $106m (FV of liabilities assumed, excluding DTL)

Å - $5m (cash acquired)

Shopping centre assets / gross assets acquired = 98.8%
Calculated as:

Å $510 ($300 shopping centre land + $210 shopping centre buildings)

Å ÷ $516 (FV of gross assets acquired ðsee above)

Concentration test met



EXAMPLE 6 

Question B ðBC elects not to apply concentration test

Should BC account for the acquisition as a business combination or as an asset 

acquisition when applying the assessment set out in IFRS 3.B8-B12D?

56

Option 1 ðBUSINESS COMBINATION

The acquisition is a business combination, with:
Å Inputs ðthe shopping centre (and intangibles)

Å ProcessesðLSC has documented processes 

that are applied to inputs to generate rental 

income (outputs)

Å Outputs ðrental income

Option 2 ðASSET ACQUISITION

The acquisition is not a business combination, 

because:
Å Inputs ðthe shopping centre (and intangibles)

Å Processesðthe acquired processes are not 

considered to be substantive because BC has 

the ability to implement processes from other 

shopping centres in order to generate income

Å Outputs ðrental income



EXAMPLE 6 

Answer B ðBC elects not to apply concentration test

Should BC account for the acquisition as a business combination or as an asset 

acquisition when applying the assessment set out in IFRS 3.B8-B12D?
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Option 1 ðBUSINESS COMBINATION

The acquisition is a business combination, with:
Å Inputs ðthe shopping centre (and intangibles)

Å ProcessesðLSC has documented processes 

that are applied to inputs to generate rental 

income (outputs)

Å Outputs ðrental income

Option 2 ðASSET ACQUISITION

The acquisition is not a business combination, 

because:
Å Inputs ðthe shopping centre (and intangibles)

Å Processesðthe acquired processes are not 

considered to be substantive because BC has 

the ability to implement processes from other 

shopping centres in order to generate income

Å Outputs ðrental income



EXAMPLE 6

Accounting differences ðbusiness combination or asset acquisition
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Land     300 Recognise at fair value   300 Recognise based on relative fair value   301 

Building - shopping centre     210 Recognise at fair value   211 Recognise based on relative fair value   211 

Acquisition costs  - Expensed       3 Capitalise ð add to land and buildings       3 Capitalise ð add to land and buildings 

Cash and cash equivalents        5 Recognise at fair value       5 Recognise based on relative fair value       5 Recognise in accordance with IFRS 9

Identifiable intangibles        4 Recognise at fair value       4 Recognise based on relative fair value       4 
Residual transaction price allocated based 

on relative fair value

Goodwill / gain on bargain 

purchase 
     72 

Recognise based on difference between 

consideration and assets and liabilities 

acquired

 - Does not arise  - Does not arise

Deferred tax    (70) Recognise in accordance with IAS 12  - Not recognised ð initial recognition exception - Not recognised ð initial recognition exception

Financial liabilities - bank 

loan
 (100) Recognise at fair value   (99) Recognise based on relative fair value (100) Recognise in accordance with IFRS 9

Other financial liabilities      (5) Recognise at fair value    (5) Recognise based on relative fair value    (5) Recognise in accordance with IFRS 9

Employee provisions      (1) Recognise in accordance with IAS 19    (1) Recognise based on relative fair value    (1) Recognise in accordance with IAS 19

Total    415 = Consideration paid  418 = Consideration paid + acquisition costs  418 = Consideration paid + acquisition costs

Business combination ($õmillion)
Approach A Approach B

Asset acquisition ($õmillion)

Residual transaction price allocated based 

on relative fair value



LESSONS LEARNED

Concentrations Test

u Donõt think of this as a òquickó or òsimpleó way out of IFRS 3

Å Provides alternative ôvalue/risk-basedõ assessment vs. (existing) assessment 
of inputs, processes, outputs

u Timing of fair value measurement of identifiable assets and liabilities may be 
needed much earlier in the process of applying IFRS 3 ðto be used in the test 
itself (aim is to make sure that there is no false -positives in the conclusion)

u Donõt be thinking that òstandardó or òindustry-usualó parts of an M&A contract 
should be excluded from your ôsingle-assetõ presumption

Å Check confirmation bias at the door when applying the test
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DO YOU NEED ASSISTANCE?
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